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A retailer offers a discount scheme on shirts, that is, buy 3, get 2 free. What is

the discount percentage?

Ueh EEUT SATIHT ShHIST OL B AISHT T&H LT =, A 3 T, 2 H%d ITH il T

gfreTd =T 22

35%
50%
30%
40%
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A dishonest grocer sells the rice at a profit of 10% and uses weights Whichare
20% less than market weights. The total gain earned by him is

TUeh ASHT TSRIHATAT 10% oh TITH U ATI 9ol & 3T U dT1el ShT START hidT
T S AT & AR H 20% HH 2| 30k gRT ATAT Hel 19 7

a) 32%

b) 37.5%
c) 30.5%
d) 35.5%
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What is the value of 12 -8 -2 - {16 of (-2) + (3 x 5-4)}?
12-8+2-{16<hT (-2) + (3 % 5-4)}35[141?3R1T%?

a) 29
b) 45
c) 1
d) 0
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In an exam, a student gets 20% marks and fails by 30 marks. A second
student scores 32% marks but gets 42 marks more than the minimum passing
marks. Find the passing percentage?

Teh GO |, Ueh BT 20% 3ieh UTH h{dT & 3R 30 37k | ATEH 2l ATdT 2l Th
O BT 32% ek UTH SHTAT & ATk =ATH ITIUT 3ehT T 42 3ieh 3Tferes UTd
AT 1 ST AT [T ShITTa?

a) 25%
b) 30%
c) 28%
d) 22%
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The sum of two numbers is 23 and their product is 216. Find the sum of their

squares.

ST EEATAT ST AT 23 7 R ITRT MU 216 §| 37k AT BT ANT 1A I

a) 961
b) 313
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The average weight of 21 workers in the shop is 45 kg. If the weight of the |
shop manager is included, the average is increased by 3 kg, then what is the

weight of the manager?

TR U 21 HATHERT T HTAT AR 45 TR 71 afe SRt Weierss ot Wiz ortivrer fema
SATAT &, v 37tea | 3 forum &t afeg Tt 81 Teeres ot R foRaat 22

a) 109 kg
b) 121 kg
c) 110kg
d) 111kg
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The difference between the Compound interest and the Simple Interest ona
certain sum of money at 10% per annum for 2 years is Rs. 40. Find the
Principal.

2 9 % ToTT 10% Sfcar St X & Tk AT Uit o skl ST 3R |TemuT
ST oh STel T A 40 U T AL AT hi |

a) Rs. 8000
b) Rs. 5000
c) Rs. 4000
d) Rs. 6000
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A thief is noticed by a policeman from a distance of 650 m. The thief starts
running and the policeman chases him. The thief and the policeman run at the
rate of 8 km and 10.5 km per hour, respectively. The distance (in metres)

between them after 12 minutes is:

Teh IR el Ueh TicTarshdt 650 HYeX st S & @A 81 TR W RT3 311
qicTaehHT SHERT UTST hidT &l aﬁ?&ﬁw%mm‘fw 8 TerdY 3T 10.5 fereT
uﬁra%aﬁnﬁ@raﬁg%r%l 12 ﬁw%aﬁmaﬁasﬁaﬁ (Hiex ®) FT 22

a) 150
b) 85

c) 125
d) 100
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A train is running at a uniform speed of 60 km/hr. It passes a railway
platform in 15 seconds. If the length of the platform is 130 m, then the length

of the train is-

Teh YeTTTIET 60 ToRH1/6e h Ueh THT =TT @ oA @I 21 T8 15 Tehe | Ueh YT
TACH T hl TR HTdT gl TTS TACHTH hl oTFaTs 130 HeX 2, a1 WermeT 6l ervars
ferat 22

a) 140 m
b) 120 m
c) 160 m
d) 250m
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LCM of 2/5,3/10 and 4/15
2/5,3/10 3R 4/15 HT . 9. T. &-

a) 2/5
b) 1/15
c) 9/5
d) 12/5
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X can do 1/5 of a work in 10 days. Y can do 60% of the work in 60 days and
Z. do 1/3 of the work in 12 days. Who will from given options complete the

work first?

X, 10 T & 1/5 F I ARAT 2 1 Y, 60 T H 60% HTH T HehaT & AR Z, 12
ot 7wk foets v o weRaT § | A fRu T foremeut § € i ueet e @R O
HATT?

a) X
b) Y
c) Z
d) X and Z together
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A cone has base radius 8 cm and vertical height 15 cm. What is its total

surface area

T 31 oh ST <hl BT § BHt ok Hgater g 15 VUl 8| 3R Het
T AR FIT S

a) 578
b) 629

( [ #Fam > c) 721
| W '—) i)
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